











hi = 2.000 m BL = 0.500 m
e = 43.890 = B2 = 1.700 m
H = 15.733 m HL = 2.000 m
b= 0.05 d = 1.000 m
m = 1.000 kN da = 1.500 m
h" = 2.000 m
L1 = 8.000 m
(1: ) | N1 =0.600| N2 =
h = 2.000 m Ock= 18 N/mm2
a = 3.000 m Ve = 23.0 kN/m3
L = 10.000 m Oca= 4.50 N/mn2
3<76/0p18 Ta = 0.33 N/mm2
A= 129.00 mm2
Ty = 118.0 kN (k/n3)  19.000 | 17.000
H-200><2008.0><12 () | 30.000
Z = 472.0 cn3 = 0.600
I = 4720 cm4 kh = 0.140
Oy = 235.0 N/mm2 c = 0.000
BL
K>
B B [N
1 da
/ —
—J
B2
0.750 | 2.000 | OK
15.733 | 46.857 | OK
4.992 | 6.750 | OK | 0.197 | 0.495 | OK
0.246 | 0.283 | 0K | 0.502 | 0.566 | OK | 0.131 | 0.566 | OK | 0.151 | 0.566 | OK
46.009 | 1.500 | OK | 2.528 | 1.500 | OK | 3.813 | 1.200 | OK | 2.850 | 1.500 | OK
3.941 0K |97.397 0K |16.081 0K |15.056 0K
350.0 600.0 600.0 600.0
55.873 0K 43.738 0K |49.414 0K
0.207 | 1.127 | OK




@

@

—
11

>
1

2.000 m
3.000 m

10.000 m

3%76/0¢p18

129.00 mm2
118.0 kN

H-200>=<200><8.0>=<12

7 =
| =

Oy =

hl =

-
1

472.0 cm3
4720 cmé
235.0 N/mm2

2.000
43.890 <
15.733 m

0.05

3

8
A 0.05 0 0.1
B 0.15 0.11 0.2
C , 0.25 0.21 0.3
D 0.35 0.31

1.000 kN




h3______:F__?
h4 ho 1
h m
h1 (m)
2.000 m
ha = 0.500 m
hs = 0.500 =< 1/2
= 0.250 m
ha = 0.500 + 0.250
= 0.750 m
h2 (m
h3 (m)
h4 (m

ha = 0.750 m h=2.000m OK



Ei = (1+B)(L- m H

tan©
(1+B) ((@-p/tan®) 1.0

(1+B) (@-p/tan®) = (1 +0.1) < (1 - 0.05 / tan43.890<)
= 1.043 1.0 oUT (U+B) (@-p/tan®) = 1.0

Ei = 1.000 > 1.000 =< 15.733 = 15.733 kJ

0.1 )



No. (m) (kN) (kJ)
1 9.607 0.104 1.000

2 11.916 0.494 5.887

3 22.733 0.104 2.365

4 12.733 0.468 5.960

5 17.733 0.728 12.910

6 15.733 1.000 15.733

7 10.761 0.120 1.292

8 —_ I N

9 —_ I N

[y
o
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) Ty R
2
R = 2Ty sinB1
=2 x 118.0 > sin13.972<
= 57.0 kN
(S
(i+ Ty I_)coselzi
2 2E A 2
3.000 =< 1083 118.0 =< 103 =< 10.000 =< 1083 3.000 =< 108
2 ' 2 < 1.000 < 10° > 129.00 ) cosO1 = 2
O1 = 13.972 <
E (N/mm2)
@ Fy
By = Mo _ oy Z
h2 h2 1—h
_ 235.0 x 472.0 > 103 3 — Fy
) 2.000 > 103 > 2/3 h 2,
= 83190 N 3
=  83.190 kN
h2
(€))
Er = Ep + ER + EN
Ep
ER
EN
“) R Fy
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b) R Fy
R = 57.0 kN Fy = 83.190 kN
iy Ep
RZ2 h23
Ep =
3E" |1
( 57.0 > 103)2 > (1.333 > 103)3

3 > 2.000 x< 10° x 4720 > 104
= 0.271 > 106 N mm

= 0.271 kJ
2) ER
ER=2Ty L S
S T=Ty
Ty
S =
E A
118.0 > 103
T 1.000 =< 105 =< 129.00
= 9.147 > 10°°
ErR = 2 x 118.0 > 103 > 10.000 > 103 >
= 21.586 > 106 N mm
= 21.586 kJ
3)
EN = 25.000kJ
4) ET

ET = Ep + ER + EN
0.271 + 21.586 + 25.000
46.857 kJ

Ei = 15.733 Er = 46.857 OK

9.147 =< 107°
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€Y)

@

Fy = 83.190 kN
h = 2.000 m
d= 1.000 m
b = 0.200 m
Ock = 18 N/mm2
Oca = 4.50 N/mm2
Ta = 0.33 N/mm2
M=Fy ( . h d )
= Fy — + —
3 2
2 1.000
= 83.190 < ( Pl 2.000 + ———
= 152.515 kN m
B o
Fy M
o=—+ —
z
83.190 > 103 152.515 > 106
= +
200000 33333333
= 4.992 N/mm2
A=b db H ) b TH h,_JH
= 200 x 1000 3
=h
= 200000 mm2 3 —F
Y
" 2
Sh B
b d2 3 e B
Z = 6 ( ) d | AL ) 3
d| ; 8 <] |d
200 > 10002 1 ‘)
= - || J .
= 33333333 mm3
O Oca
o = 4.992 N/nm2  Oca > 1.5 = 4.50 < 1.5 = 6.750 N/mm2 0K
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(©))
T
45"
Fy /<
T =
2cd N
i 83.190 > 103 B AR
T2 > 0.212 = 1.000 > 106
= 0.197 N/mm2 45°
1
c=/2 1=/2%x0.15 = 0.212m | = (0.500 - 0.200) /2= 0.150 m
T Ta

T = 0.197 N/mm2 Ta < 1.5 = 0.33 < 1.5 = 0.495 N/mm2 OK
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€Y)

0

gl
g2
g3
g4

Yysl

(SH
YS2

kh

Ock

Yc

0.600
350.0
600.0
600.0
600.0

19.000
30.000

10.000
17.000

0.140
0.000

18
23.0

Bl

H1

B2

kN/m2
kN/m2
kN/m2
kN/m2

kN/m3

kN/m3

kN/m2

N/mm2

kN/m3

Bl
B2
H1
N1
N2

0.500 m
1.700 m
2.000 m
1: 0.600
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®

AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 1.200 23.0 27.600 0.800
[2] | 1.000 23.0 23.000 1.450
[3] | 0.000 23.0 0.000 1.700
2.200 50.600 1.095
AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 1.200 23.0 27.600 3.864 | 0.800 | 0.667
[2] | 1.000 23.0 23.000 3.220 | 1.450 | 1.000
[3] | 0.000 23.0 0.000 0.000 | 1.700 | 0.667
2.200 50.600 7.084 | 1.095 | 0.818
V=3A vye
H= >V kh
X = X)/=A
Y= Y)/=A
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*

w =52.000= 60.000< w =56.000<
w PH Pv
52.000< 0.696 0.654 0.238
53.000< 0.700 0.658 0.239
54.000< 0.704 0.662 0.241
55.000< 0.705 0.662 0.241
56.000< 0.706 0.663 0.241
57.000< 0.705 0.662 0.241
58.000< 0.704 0.662 0.241
59.000< 0.700 0.658 0.239
60.000<= 0.696 0.654 0.238
0.708
0.706 /\
~ 0.704
§ 0.702 // \\
0.700 / \
0.698 / \
0.696
0.694
082 T S s 4 o o o o o
S &S &S
R R R R A M R M N
w( )
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PH

Pv

Wl sin(w-®)

cos(w-@-a-0)
1.602 sin(56.000<- 30.000<)

w1

@l

cos(56.000= - 30.000= - 0.000<= - 20.000<)
0.706 kN

P cos(d + o)
0.706 > cos(20.000=+ 0.000<)
0.663 kN

P sin(d + o)
0.706 > sin(20.000=+ 0.000<)
0.241 kN

(kN)
(kN/m)
)
)
<)
<)
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b)
V(kN) H(KN) X(m) | Y(m) Mr(kN - m) Mo(kN  m)
50.600 1.095 55.407
0.241 0.663 1.700 | 0.167 0.410 0.111
50.841 0.663 55.817 0.111
c)
@
SMr - Mo 55.817 - 0.111
= = = 1.096 m
sV 50.841
1)
B2 1.700
ez — -d-= - 1.096 = -0.246 m
2 2
le] = 0.246 m B2/6 = 1.700 / 6 = 0.283 m 0K
2)
>V
Fs = Ll
>H
~0.600 50.841
B 0.663
= 46.009 1.500 0K
3)
>V 6e
= (1)
B2 B2
50.841 6 < -0.246
R (1T Ry
1.700 1.700
= 3.941 KN/m2 350.0 kN/m2  OK
>V 6e
@= (1 -
B2 B2
_ 50.841 . 6 < -0.246
©1.700 ( 1.700 )

55.873 kN/m2

350.0 KN/m2

OK
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®

w =52.000= 60.000< w =56.000<
w PH Pv
52.000< 0.696 0.654 0.238
53.000< 0.700 0.658 0.239
54.000< 0.704 0.662 0.241
55.000< 0.705 0.662 0.241
56.000< 0.706 0.663 0.241
57.000< 0.705 0.662 0.241
58.000< 0.704 0.662 0.241
59.000< 0.700 0.658 0.239
60.000<= 0.696 0.654 0.238
0.708
0.706 /\
~ 0.704
§ 0.702 // \\
0.700 / \
0.698 / \
0.696
0.694
082 T S s 4 o o o o o
S &S &S
R R R R A M R M N
w( )
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PH

Pv

Wl sin(w-®)

cos(w-@-a-0)
1.602 sin(56.000<- 30.000<)

w1

@l

cos(56.000= - 30.000= - 0.000<= - 20.000<)
0.706 kN

P cos(d + o)
0.706 > cos(20.000=+ 0.000<)
0.663 kN

P sin(d + o)
0.706 > sin(20.000=+ 0.000<)
0.241 kN

(kN)
(kN/m)
)
)
<)
<)
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b)
R)
P=R 2/L= 57.0 < 2 / 10.000 =  11.400 kN/m
L
y = HL + h2 = 2.000 + 1.333 = 3.333 m
V(KN) H(KN) X@m) | Y(m) Mr(kN  m) Mo(kN )
50.600 1.095 55.407
0.241 0.663 1.700 | 0.167 0.410 0.111
11.400 3.333 37.996
50.841 12.063 55.817 38.107
c)
(D
>Mr - =Mo 55.817 - 38.107
i >V i 50.841 i 0-348m
D
B2 1.700
ez - d= - 0.348 =  0.502 m

le] = 0.502 m B2/3 = 1.700 / 3 = 0.566 m OK

2)
Fs = Laliid ZHZV
_0.600 > 50.841
) 12.063
= 2.528 1.500 0K
3)
23y
wE Ty
2% 50.841
3 x 0.348

97.397 kN/m2

600.0 KkN/m2 OK
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©)

w =45.000° 53.000° w =49.000°
w P PH Pv

45.000° 0.936 0.904 0.242

46.000° 0.941 0.909 0.244

47.000° 0.945 0.913 0.245

48.000° 0.947 0.915 0.245

49.000° 0.948 0.916 0.245

50.000° 0.947 0.915 0.245

51.000° 0.946 0.914 0.245

52.000° 0.943 0.911 0.244

53.000° 0.939 0.907 0.243
0.950
0.948 ——_

. 0.946 / DN

< 0.944 / \

o/

o 0.942 / \
0.940 / N
0.938 — 7
0.936
0.934
0-932 T T T T T T T T

g § & ¢ <& <& & &S
e &S EE S S
SN S R SR R A
w( )
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Wl sec® sin(w-@p+O)

cos(w-@-a-9)

2.065 sec( 7.970°) sin(49.000=- 30.000=+ 7.970<)
cos(49.000= - 30.000= - 0.000< - 15.000<)

0.948 kN

PH =P cos(d + )

Pv

0.948 > cos( 15.000=+ 0.000=)
0.916 kN

=P sin(d + )

= 0.948 > sin(15.000=+ 0.000<)

= 0.245 kN

P (kN)

w1 (kN/m)

w )
(S} O = tan-1kh(<)

kh

@l )

o <)

S <)
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b)
V(KN) H(KN) Xm) | Y@m | Mr(kN m) Mo(kN  m)
50.600 7.084 1.095 | 0.818 55.407 5.795
0.245 0.916 1.700 | 0.167 0.417 0.153
50.845 8.000 55.824 5.048
c)
@
SMr - Mo 55.824 - 5.948
- = 0.981 m
>V 50.845
1)
B2 1.700
ez - d = - 0.981 = -0.131 m
le] = 0.131 m B2/3 = 1.700 / 3 = 0.566 m 0K
2)
>V
o M =Y
>H
~0.600 > 50.845
B 8.000
= 3.813 1.200 OK
3)
>V 6e
ws (%)
B2 B2
50.845 6 < -0.131
= (]_+ )
1.700 1.700
= 16.081 kN/m2 600.0 KN/m2  OK
>V 6e
2= (il -—
B2 B2
50845 . 6 < -0.131
©1.700 ( 1.700 )
= 43.738 kN/m2 600.0 KN/m2  OK
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)

w =33.000= 41.000< w =37.000<
w P PH Pv

33.000< 12.076 11.348 4.130
34.000< 12.133 11.401 4.150
35.000< 12.185 11.450 4.168
36.000< 12.232 11.494 4.184
37.000< 12.274 11.534 4.198
38.000< 8.188 7.694 2.800
39.000<= 8.606 8.087 2.943
40.000<= 9.098 8.549 3.112
41.000<= 9.534 8.959 3.261

13.000

12.000 \
- \
< 11.000 \
o/
o

10.000 \

/

9.000 \/

8.000

7_000 T T T T T T T T

Qﬂ Qﬂ Qa Qﬂ Qa Qﬂ Qﬂ Qa Qﬂ
9Q O 96 S 9Q S 9Q 9Q 96
L S <M S AR I S 2
w( )
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PH

Pv

Wl sin(w-@)+tW2 cos(w-¢) tan(O-O7)

cos(w-p-a-0)
20.249 sin(37.000=-30.000=) + 7.128 c0s(37.000=-30.000=) tan(73.301<=-20.000<)

cos( 37.000= - 30.000= - 0.000<= - 20.000<)
12.274 kN

P cos(d + o)
12.274 =< cos(20.000=+ 0.000<)
11.534 kN

P sin(d + o)
12.274 > sin(20.000=+ 0.000<)
4.198 kN

(kN)
(kN/m)
)
)
)
<)
<)
<)
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b)
V(KN) HON) | X@m) | Y@m) | MrQkN m) Mo(kN )
50.600 1.095 55.407
4.198 11.534 1.700 | 0.667 7.137 7.693
54.798 11.534 62.544 7.693
9)
(d)
2 Mr - >Mo 62.544 - 7.693
= = = 1.001 m
>V 54.798
1)
B2 1.700
e = T -d-= 5 - 1.001 = -0.151 m

le] = 0.151 m B2/3 = 1.700 / 3 = 0.566 m OK

2)
>V
o M =Y
>H
~0.600 > 54.798
B 11.534
= 2.850 1.500 OK
3)

>V 6e
gl = — (1 + )
B2 B2

54.798 1 6 < -0.151
o g
1.700 ( 1.700 )

15.056 kN/m2 600.0 kN/m2 OK

>V 6e
w (o
54.798 6 < -0.151
1.700 (1_ 1.700 )
49.414 KN/m2  600.0 kN/m2  OK

g2



28

@
B1
&
AGEZE D) W
Hi I
3 . 12
E G ()
S
B?
FObhEREETT T
a) P G Z1
1
Bl + B2
m = T > Hl L1 wec
0.500 + 1.700
= 5 > 2.000 < 8.000 x< 23.0
= 404 .8 kN
L1
B1
B2
H1
2) M
m ,B12 + B22 B2 - Bl 2B1 + B2)2H12 + (B12 + B22 + Bl B2)2
|:7{7+ , _B2-Bl 2_( ) ( )}
3 2 2(B1 + B2) 3(B1 + B2)2
404.8 0.5002 + 1.7002 1.700 - 0.500
= { + 2.0002 - > 2.0002
3 2 2 > (0.500 + 1.700)

(2 > 0.500 + 1.700 )2 > 2.0002 + ( 0.5002 + 1.7002 + 0.500 > 1.700)2 }

3 > (0.500 +

185.5kN m

1.700 )2
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3) lo
L. B
12
_1.7003  8.000
) 12
= 3.275 m4
4) A
A=B2 LL
= 1.700 =< 8.000
= 13.600 m2
5) S
_ HL 281+ B2
T3 mem
2,000 2 < 0.500 + 1.700
3 0.500 + 1.700
= 0.818 m
6) Kv
1 Bv -3/4
Kv = — ko ( )
0.3 0.3
k= s 1 84000.0 = (( 220y

0.3 0.3 )

42648.7 kN/m3

Bv
Bv=A= 13.600 = 3.688n
(@ ¢

Eo Eo = 2800N = 2800 =< 30 = 84000.0 kN/m2
N N
Eo o
Eo o
0.3m

1/2 1
4
4
N E=02,800N 1
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7) Ks
A Kv
4
13.600 =< 42648.7
4
145005.6 kN/m

Ks

8) Kr)
Mu - Mw

By - 60
128.824 + 99.176
0.00102 + 0.00071
131791.9 kN m

Kr

Mu
Mw
Oy
OO0 Mw
9) P G (21)
Kr 131791.9
2= — = —— = 0.909
Ks 145005.6
I 185.5
jp2= — = ——— = 0.458
m 404.8
Z 71 S2 2 102 71 S2 2 102 )2 102
= + - + + - +
1 ’s ( €o i02) 452 ( €o i02 ) io
1
= 7( 0.8182 +  0.909 - 0.458)
2 < 0.818
1 2
+ —( 0.8182 +  0.909 - 0.458) +  0.458
4 =< (.8182

= 1.647 m
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b) A Vv
1) ™ (1
l1=21-S
= 1.647 - 0.818
= 0.829 m
2) ™ (2
l2 =11+ HL
= 0.829 + 2.000
= 2.829 m
3) Q) ™ Q)
Il =11 + h"
= 0.829 + 2.000
= 2.829 m
hl
4) a’)

.42 12-BL 11)(122+ 11 12+ 112) - 3(B2 - BL)(12 + 11)(122 + 112)
) 6l 2(BL + B2) H1
= {4( 1.700< 2.829-0.500% 0.829)><( 2.8292+ 0.829%< 2.829+  0.8292)
~3( 1.700-0.500)><( 2.829+ 0.829)>( 2.8292+  0.8292)}
/{6><  2.8292 ><(0.500+ 1.700)><2.000}
= 0.377

(@ (



A )

2mo
— Vo
mo + o™m
2 < 1.000
> 17.808
1.000 + 0.377 =< 404.8
0.232 m/sec
Mo
Vo
H® = 15.733 +2/3h+H1-h"
= 15.733 + 2/3 < 2.000 + 2.000 - 2.000 = 17.066 m
Vo = 2g(1- H ) Hr
tan©
0.05
= /2 % 9.80 ><(1— 7) > 17.066
tan43.890<

17.808 m/sec
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©)

D

Kr1i

2) A

Sd

3)

4)

(Kr1)
= Ks(eo? +112)
145005.6 >< ( 0.909 + 0.8292)
231463.9 kN m

Sd)

o mfg 12 V2
Kr1

2.8292

>

0.2322

0.377 =< 404.8 / 9.80 x<
231463.9

0.005 m

oL)
Sd
I
0.005
2.829
0.00177rad = 0.101<

L)

Sd - h e:5d(1-k:')

2.000
0.005 ><( 1- 7)
2.829

0.00147 m
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d)
1
1
Eve = — Kr ©OL2
2
1
= — X 131791.9 =<
2
= 0.207 kJ
2) EHL
1
EHL = — Ks OL2
2
1
= 45* =< 145005.6 >=<

0.157 kJ

0.001772

0.001472

EmL

EmML

EHL



&)

b W REMEIGERFD B AT b
Wy @ EREHERE— AT
o MR R B A b

N o EEEEIC J AT A1 ]
-, Wi P IELAVERE-AT
1 St My WX AEERE
B ot W WGELEREOMEEER
© W & : [EAmEEA
3 g : FEEEE \
) Hu : ML ERF AT L
Ei " o : BRI AR L mAER
E H1 T F—
i
1%
e %
0 a & ¢ f
jEEE o (@i A &
o7 2 — ZF g
a) Mw
My =m dx
= 404.8 =<  -0.245
= -99.176 kN m
dx
HL(2B1 + B2)NL
dx = -
6(B1 + B2)
_2.000 > (2 > 0.500 + 1.700 ) > 0.600
B 6(0.500 + 1.700)
= -0.245m
N1

N1 = 0.600
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b) (My) (Mu)

Hr = 114 My
Mu

My = Hr><h* = 114 > 2.000 = 228.000 kN m

h* (m) h" =2.000 m
Mu = My + Mw =  228.000 + -99.176 = 128.824 kN m
1
Qu = Ae{axkcNcSe + KQgNgSq + ‘5*\/1£386Nr3r}

8.512 >{ 1.0 1.000 > 0.000> 16.63 > 1.000+ 1.000 <  0.000 < 10.44 >< 1.000
1/2> 20.000 >< 1.0 < 1.064 < 4.58 >< 0.980}

406.504  (kN)
m= 404.8 kN

+
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Qu (kN)

@ ) ®=30 °

c (kN/2m) ¢ = 0.000 kN/m2

Y1 Y2 (kN/m3)

B2 (m) B2= 1.700 m

es (m) es = |[Mu/m] = | 128.824 / 404.8 | = 0.318 m
Be (m)

Be = B2 - 2es = 1.700 - 2> 0.318 = 1.064 m

a B a=10 B =1.0
q (kN/m2)
q = y2>=Df = 0.000 < 0.500 = 0.000 KkN/m2
K
K = 1.000
Ae (m2) Ae = Bex<L1l = 1.064 >< 8.000 = 8.512 m2
tan©

Hr
tan® = — = 0.282
m

Nc Ng Nr
Nc = 16.63 Nq = 10.44 Nr = 4.58

AV M A=V=p=-1/3

Sc Sq Sr
Sc = (C*)A = (C/Co)A = ( 0.000/10)-1/3 = 1.000 ( 1 C* 10)
Sqg = @)V = (@/q0)V = ( 0.000 /10)-1/3 = 1.000 ( 1 g 10)
Sr = (B")M = (Be/Bo)M = ( 1.064/1.0)-1/3 = 0.980 ( 1 BY)
Co = 10 kN/m2
go = 10 kN/m2

Bo=1.0m



c) Kro M<M1
Kro = lo Kv
= 3.275 > 42648.7
= 139674.5 kN m

M1
m B2/6
404.8 < 1.700 /7 6
114.7 kKN m

M1

d) Ke* M M1
Kr* = Kro/2

139674.5 / 2
69837.3 kN m

e) Mw (©0)
Mw
Kro
-99.176
139674.5
= -0.00071 rad = -0.041<

2
1



) ML o1

o1:= 1
Kro
147
 139674.5
= 0.00082rad = 0.047°
9 Oy
ey:(ZM” _1) M1
M1 Kro
| 2% 128.824 114.7
_( 14.7 1) 139674.5
= 0.00102rad = 0.058°
h) Oa
BOa=pu Oy
= 5.000 < 0.00102
= 0.00510rad = 0.292° = 3.000°
9
i) Em

1
Em = 7My(ey - ©0) + ly(Ba - By)

1
= 7 > 228.000 ><( 0.00102 + 0.00071 ) + 228.000><(0.00510 - 0.00102)

1.127 kJ

®

EmL= 0.207 kJ
En= 1.127 kJ OK
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3>x<7G/0p12
Th = 68.6 kN
n = 2
SD295A | D16 | As = 198.60 mm2
( ) Osal= 160 N/mm2
( ) O'sa2= 270 N/mm2
D = 66 mm
Ock= 21  N/mm2
Tca= 1.4 N/mm2
Tpa= 0.80 N/mm2
kh = 0.140
YV = 26.000 kN/m3
o = 45.000 <
© = 30.000 <
a= 1.000m
T= 6.8 kN 34.3 kN 0K
L= 0.5m T= 3.4 kN 31.7 kN OK
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No. 8 W= 13.624 kN
1
@
a) 3><7G/0¢p12
Tb= 68.6 kN
b) SD295A
Osal= 160 N/mm2
O'sa2= 270 N/mm2
c) Ock= 21 N/mm2
Tca= 1.4 N/mm2
d)
Tpa= 0.80 N/mm2
@) kh= 0.140
©)
®
a)
V= a3 71/6 = 1.0003><T711/6
= 0.524 m3
Y= 26.000 kN/m3
W=V vy = 0.524 =< 26.000 = 13.624 kN

a a= 1.000 m
o = 45.000 <
© = 30.000 <
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®)
a)
S=W sina
= 13.624 > sin 45.000 <
= 9.6 kN
Ps = S/cosax
= 9.6 / cos 45.000 <
= 13.6 kN
b) Pse = kh W
= 0.140 = 13.624
= 1.9 kN
Ps = 13.6 kN
2
3%<7G/0p12 [ 68.6kN] n= 2 2.0
T = Ps _ 13.6
" on sin@ 2 < 2 > sin 30.000 ©
= 6.8 kN Tb / Fs = 68.6 / 2.0 = 34.3kN OK
T
n
(S]

Fs 2.0
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3
€))
Fsa = 2.0
@
a)
tpa =TTpa TU D/Fsa
= 0.80 = 71T =<
D ( 66mm)
Tpa
b)
tca =Tca 1T d
= 1.4 < 71 < 16
Tca =
d (16mm)
©)

ta = min [tpa, tca] = min [

d)
Tsa = Osal

As

As = 160 =<

e)

Tpa = min [ta L,Tsa] = min [

®
Ps 13.6
T = = =
n>=2 4
T 3.4
L = = =
ta 70

Fsa
tpa
66 / 2.0 = 82.9 N/mm 82 kN/m
tea
= 70.4 N/mm 70 KkN/m
[Ock = 21N/mm2]
ta
82, 70] = 70 kN/m
Tsa
198.60 = 31776.00 N = 31.7 kN
Tpa
35.0, 31.7]
4
3.4 kN Tpa = 31.7 kN oK
0.049 m

0.5 m



3%<76/0¢p12

T = 68.6 kN
n = 2
SD295A | D16 As = 198.60 mm2
( ) Osal= 160 N/mm2
( ) O'sa2= 270 N/mm2
D = 66 mm
Ock= 21 N/mm2
Tca= 1.4 N/mm2
Tpa= 0.80 N/mm2
kh = 0.140
Vv = 20.000 kN/m3
o = 45.000 =
© = 30.000 © A
a= 0.300m o
b = 3.000m o
c= 0.300m °

T= 2.7 kN 34.3 kN OK

L= 0.5m

—
1

1.4 kN 31.7 kN OK
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No. 9 W= 5.400 kN
1
@
a) 3><7G/0¢p12
Tb= 68.6 kN
b) SD295A
Osal= 160 N/mm2
O'sa2= 270 N/mm2
c) Ock= 21 N/mm2
Tca= 1.4 N/mm2
d)
Tpa= 0.80 N/mm2
@) kh= 0.140
©)
®
a)
V=a b c¢=0.300x3.000>0.300
= 0.270 m3
Y= 20.000 kN/m3
W=V y = 0.270 =< 20.000 = 5.400 kN

a= 0.300m

= 3.000 m
c= 0.300m
o = 45.000 <
© = 30.000 <
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®)
a)
S=W sina
= 5.400 > sin 45.000 <
= 3.8 kN
Ps = S/cosax
= 3.8 / cos 45.000 <
= 5.4 kN
b) Pse = kh W
= 0.140 =< 5.400
= 0.8 kN
Ps = 5.4 kN
2
3x7G/0¢p1l2 [ 68.6kN] n= 2 2.0
T = Ps _ 5.4
" on sin@ 2 < 2 > sin 30.000 ©
= 2.7 kN Tb / Fs = 68.6 / 2.0 = 34.3kN OK
T
n
(S

Fs 2.0
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3
€))
Fsa = 2.0
@
a)
tpa =TTpa TU D/Fsa
= 0.80 = 71T =<
D ( 66mm)
Tpa
b)
tca =Tca 1T d
= 1.4 < 71 < 16
Tca =
d (16mm)
©)

ta = min [tpa, tca] = min [

d)
Tsa = Osal

As

As = 160 =<

e)

Tpa = min [ta L,Tsa] = min [

®
Ps 5.4
T = = =
n>=2 4
T 1.4
L = = =
ta 70

Fsa
tpa
66 / 2.0 = 82.9 N/mm 82 kN/m
tea
= 70.4 N/mm 70 KkN/m
[Ock = 21N/mm2]
ta
82, 70] = 70 kN/m
Tsa
198.60 = 31776.00 N = 31.7 kN
Tpa
35.0, 31.7]
4
1.4 kN Tpa = 31.7 kN oK
0.020 m

0.5 m
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= 10.000 m
L1= 16.071 m
lg= 10.000 m B
0= 63.088 <
B= 77.984 <
h = 5.000 m
I = 3.000 m =
SE 35.225 <
H= 8.284 m
M= 0.05
W= 1.000 kN
D= 0.500 m .
— LI SO B Oy
—0 © 0 0O 0
> 4.0>50 IR fitEQ— 2
p = 26.5 kN/m 5 o1 + SN
3x<76/0p16 h WwErO——
Tb= 118.0 KN X © 0
3=<76/0¢p16 0 o
Ty= 885 k|| Mg \ﬂ*ﬁgﬁ—mhj
Tb= 118.0 kN h | HERREO — o
A= 101.00 mm2 © g *
©28 hI_C °
Ta= 80.000 N/mm2 o o
(kN)
(kN)
6.2 2.2 11.6 53.6
30.1 2.0 3.0 55.0
0K 0K 0K 0K
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@

b)

4.0><50

p = 26.5
3=<7G/0pl6

Tob= 118.0
3=<7G/016

Ty= 88.5
Tb= 118.0
A= 101.00

kN/m

kN

kN
kN

mm2
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)
L
Lo lyty ) ron-
. —0 o 0 ©
IR fEExO—-
o—h + =0
h A wrO-—o
e erats i o
h } }
o o
L1 ~ Jitgsen— o
0 o
h - |Esen— o
o g o
o o
o
o o
L = 10.000 m
L1= 16.071
I R= 10.000
Oo= 63.088 <
B= 77.984 <
h = 5.000
| = 3.000
(€©))
O= 35.225 <
H = 8.284 m
= 0.05
@]
9]
A , , 0.05 0 0.1
B , 0.15 0.11 0.2
C , , 0.25 0.21 0.3
D s 0.35 0.31
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Ew=(1-

1 -
t

an 35.225<

)m H sin20o0
tan©

0.05

6.120 6.2 kJ

I #=ffffe 7 I

ke h

)
T o L7
] N

(ST

mi

W=

it~

m 2ER H aoiin -

) x< 1.000 <  8.284 > sin2 63.088°

1.000 kN



54

No. (m) (kN) (kJ)

1 2.158 0.104 0.163
2 4.468 0.494 1.603
3 J— J— J—

4 5.284 0.468 1.804
5 10.284 0.728 5.555
6 8.284 1.000 6.120
7 3.313 0.120 0.289
8 N J— J—

9 N J— J—

=
o
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(ED

ET = EN + ER + EP + EHR + EL

En
ER 2
Ep
EHR
EL
@ (G))

EN=2P sin®@ & =0.22 P h

=0.22 x 19.875 < 5.000
= 21.8 kJ
P
1.5D
P=15D p
= 1.5 < 0.500 =<
= 19.875 kN
Im

26.5
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@ (ER)
2
L
ER=2 —— (T2 -T2
% A ¢ o)
= P/2 = 19.875 /2 = 9.938 kN
T = R/sing = P/2sing = 9.938 /sing
I 3.000
cos = =
® T >< 10.000
I +— 3.000 +
1.000 < 108 > 101.00 >< 10-6
T= 53.556 kN
L
E
A
T
Tb/T = 118.0 / 53.556 = 2.2 2.0 OK
T0
R
|
10.000
Er = 2 x =< ( 53.5562 -
2 < 1.000 < 108 > 101.00 =< 10-6

2.8 kJ

5.02 )
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©) (Er)
Ep = 0.0 kJ
“4) (EHR)
THR = R cosec3
= 9.938 < cosec 77.984 <
= 10.161 kJ
T e - To)
EHR = THRZ - To*"
E A
10.000
= ( 10.1612 - 5.02)
1.000 >< 108 101.00 > 10-6
= 0.0 kJ
IR
THR
Tb / THR = 118.0 / 10.161 = 11.6 3.0 OK
R
B
To"

5.0 kN
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®) (EL)
m2
EL= — Ew
mi + m2
10.221
= =< 6.120
1.000 + 10.221
= 5.5 kJ

me=4 1 L1 Wn

=4 =< 3.000 < 16.071 > 0.053
= 10.221 kN
m1
m2
Ew
1 (W) ( 48.2 m )
(kN) (kN)
4.0><50 0.041 48.2 m2 1.976
3=<7G/0p1l6 0.009 15.0 m 0.135
3=<7G/0p1l6 0.009 32.1m 0.289
3x<7G/0p12 0.005 28.0m 0.140
2.540
1m2 0.053
=L =< |
= (Lizh + 1) >< |
(Li/h + 1)
=L <2
= + - L1 -1
1
WN = 2.540 / 48.2 = 0.053

ET

EN + ER + EP + EHR + EL
21.8 + 2.8+ 0.0+ 0.0+ 5.5
30.1 kJ Ew = 6.2 kJ 0K



€Y)

a) @28
R=ma < 1.5 < A
= 80.000 < 1.5 x< 4.59 x< 102 = 55080 N
= 55.0 kN
@
THR = 10.161 10.2 kN
= 55.0 kN OK
T= 53.556 53.6 kN

= 55.0 kN 0K
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> 4.0><50
Wa = 26.5 KkN/m
3%<76/0¢p16
3%<76/0¢p12
To = 118.0 kN
H = 13.000 m
I = 4.000 m
h = 5.000 m 1 1 1 -
Y = 10.000 m - 0 0 o n*’f—
SE 45.000 < Y ,M
h © Wi *ﬁ%m_:‘f
Wi 2.000 kN/m2 0 4 o
h Wiz
o 4 o
AL Wis| o imesn -
h Wie|  [HErEEO—
0 s o
o % O
hT wln
O 4 o
P28 A = 4.59 cm2
Ta = 80.000 N/mm2
(kN) (kN)
3.1 2.1 2.4 54.6
2.0 2.0 1.0 55.0
0K 0K 0K 0K




€Y

a) ( > ) 4.0>=50
Wa = 26.5 kN/m
b)
3%<76/0¢p16
3%<76/0¢p12
Tp = 118.0 kN
@)
O .
3 Q (8] ]
y T iR -2
O 8]
O— g )
h {
L& ]
h P EFESEO — o
H O o
h RO —
o o
I
o O
3
O o
H= 13.000 m
| = 4.000 m
h= 5.000 m
Y = 10.000 m

©O= 45.000 <
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=~
11

sin© - pIcosO

0.354

S )
8

Wi = (Wi+W2)K
Wi
W1 1
W2 |
(Y) W1
2.000 kN/m2
Wi =Wn>x<1 x<H

2.000 = 4.000 X
104.000 kN

Wn
' (m
H (m)

sin45.000=- 0.5 >< cos 45.000<

0.5)

kN)

kN)

13.000

(kN/m2)

kN)
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) W2
W2 = Wn ><I> H
= 0.054 X 4.000 > 13.000
= 2.808 kN
WN kN)
(W) ( 52.0m2 )
(kN) (kN)
4.0><50 0.041 52.0 m2 2.132
3><7G/0¢p16 0.009 62.0 m 0.558
3>=<76/0¢p12 0.005 25.0 m 0.125
2.815
1m2 0.054
=H x|
=2><H+ Hh+1) <1 +2>=<Y
(H/h + 1)
=H+ 1 =< (H/h)
(H/h)
WN = 2.815 / 52.0 = 0.054
(€) Wi
Wi = (W1 + W2)K
= ( 104.000 + 2.808 ) < 0.354
= 37.810 kN
O
F1 = To/ W1 = 118.0 / 37.810 = 3.1 2.0 OK
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Wi

3
T 10%
! .
F |
el —_
“~ =
T T
w 12
8f
Wn
|
KQW1™ + W2*)
T kN)
w
f @m
f=1>0.1-= 4.000 < 0.1 = 0.400 m
Wni kN)
Wit 3h kN)

W2 3h kN)
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() W1*
W1®" = Wn > 3h > |
= 2.000 < 3 x 5.000 =< 4.000
= 120.000 kN
(@) Wa"
W2" = Wn < 3h x|
= 0.054 =< 3 < 5.000 < 4.000
= 3.240 kN
Wit = K™ + W'2)
= 0.35%4 > ( 120.000 + 3.240 )
= 43.627 kN
Wi 43.627
w = = = 10.907 kN/m
| 4.000
w 12 10.907 >  4.000°
T= = = 54.535 kN
8f 8 >< 0.400
©)
F2 = To/T = 118.0 7/ 54.535 = 2.1 2.0
5.
w = 10.907 KkN/m
F3 = Wa/Tn = 26.5 / 10.907 = 2.4 1.0

OK

OK
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€Y)

@

@28

R=ma < 1.5 < A

80.000 < 1.5 =<

54.535 kN

55.0

kN

4.59 =< 102 =

OK

55080.0 N =

54.6 kN

55.0 kN
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O = 44.904 <
H = 20.066 m
M= 0.05
Y = 26.000 kN/m3
a-= 1.000 m
Bl = 0.500 m
B2 = 3.000 m
H1 = 2.500 m
da = 2.000 m
h" = 2.000 m
L1 = 10.000 m
1:) N1 = 1.000
(KN/m3) 19.000 17.000
) 30.000
b= 0.600
Ock= 18 N/mm2
vye = 23.0 kN/m3
kh =  0.140
c=  0.000
B1
" da
7 — O
¢ .
B2
0.477 0.500 | OK | 0.344 1.000 | OK | 0.39 1.000 | OK
91.281 | 1.500 | OK | 4.033 1.200 | OK | 3.452 1.500 | OK
1.547 0K | 10.491 OK | 7.448 0K
65.698 300.0 0K | 56.757 000.0 OK | 64.166 000.0 0K
5.307 0.594 | OUT




€))

O = 44.904 <
H = 20.066 m
M= 0.05
M
8]
A , : , 0.05 0 0.1
B , : , 0.15 0.11 0.2
C , : , 0.25 0.21 0.3
D , : , 0.35 0.31
V=a3 711/6 = 1.0003=<T711/6
= 0.524 m3
Y = 26.000 kN/m3
m=V y = 0.524 =< 26.000 = 13.624 kN
a= 1.000 m
M= 0.600
gl = 300.0 kN/m2
g2 = 600.0 kN/m2
g3 = 600.0 kN/m2
g4 = 600.0 kN/m2
ysl = 19.000 kN/m3
@ = 30.000 <
©1 = 10.000 <
Yys2 = 17.000 KkN/m3
kh = 0.140
c= 0.000 kN/m2
Ock = 18 N/mm2
Yec = 23.0 KN/m3
@
Bl = 0.500 m
B1 B2 = 3.000 m
H1 = 2.500 m
N1 = 1: 1.000




71

®

AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 3.125 23.0 71.875 1.667
[2] | 1.250 23.0 28.750 2.750
[3] | 0.000 23.0 0.000 3.000
4.375 100.625 1.976
AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 3.125 23.0 71.875 10.063 | 1.667 | 0.833
[2] | 1.250 23.0 28.750 4.025 | 2.750 | 1.250
[3] | 0.000 23.0 0.000 0.000 | 3.000 | 0.833
4.375 100.625 14.088 | 1.976 | 0.952
V=3A vye
H= >V kh
X = X)/=A
Y= Y)/=A




72

*

w =52.000= 60.000< w =56.000<
w PH Pv
52.000< 0.696 0.654 0.238
53.000< 0.700 0.658 0.239
54.000< 0.704 0.662 0.241
55.000< 0.705 0.662 0.241
56.000< 0.706 0.663 0.241
57.000< 0.705 0.662 0.241
58.000< 0.704 0.662 0.241
59.000< 0.700 0.658 0.239
60.000<= 0.696 0.654 0.238
0.708
0.706 /\
~ 0.704
§ 0.702 // \\
0.700 / \
0.698 / \
0.696
0.694
082 T S s 4 o o o o o
S &S &S
R R R R A M R M N
w( )
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PH

Pv

Wl sin(w-®)

cos(w-@-a-0)
1.602 sin(56.000<- 30.000<)

w1

@l

cos(56.000= - 30.000= - 0.000<= - 20.000<)
0.706 kN

P cos(d + o)
0.706 > cos(20.000=+ 0.000<)
0.663 kN

P sin(d + o)
0.706 > sin(20.000=+ 0.000<)
0.241 kN

(kN)
(kN/m)
)
)
<)
<)
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b)
V(KN) H(KN) X@m | Y(m) | Mr(kN m) Mo(kN  m)
100.625 1.976 198.835
0.241 0.663 3.000 | 0.167 0.723 0.111
100.866 0.663 199.558 0.111
c)
@
SMr - Mo 199.558 - 0.111
= = = 1.977 m
>V 100.866
1)
B2 3.000
e=— -d-= - 1.977 = -0.477 m
2 2
le] = 0.477 m B2/6 = 3.000 / 6 = 0.500 m 0K
2)
>V
Fs = Ll
>H
~0.600 > 100.866
B 0.663
= 91.281 1.500 OK
3)
>V 6e
= (1)
B2 B2
100.866 L, B 047
= +
3.000 ( 3.000 )
= 1.547 KN/m2 300.0 kN/m2  OK
>V 6e
@= (1 -
B2 B2
_100.866 LB 0477
©3.000 ( 3.000 )

65.698 kN/m2

300.0 KN/m2 OK
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®

w =45.000° 53.000° w =49.000°
w P PH Pv

45.000° 0.936 0.904 0.242

46.000° 0.941 0.909 0.244

47.000° 0.945 0.913 0.245

48.000° 0.947 0.915 0.245

49.000° 0.948 0.916 0.245

50.000° 0.947 0.915 0.245

51.000° 0.946 0.914 0.245

52.000° 0.943 0.911 0.244

53.000° 0.939 0.907 0.243
0.950
0.948 ——_

. 0.946 / DN

< 0.944 / \

o/

o 0.942 / \
0.940 / N
0.938 — 7
0.936
0.934
0-932 T T T T T T T T

g § & ¢ <& <& & &S
e &S EE S S
SN S R SR R A
w( )
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Wl sec® sin(w-@p+O)

cos(w-@-a-9)

2.065 sec( 7.970<) sin(-90000=- 30.000=+ 7.970<)
cos(49.000= - 30.000= - 0.000< - 15.000<)

0.948 kN

PH =P cos(d + )

Pv

0.948 > cos( 15.000=+ 0.000=)
0.916 kN

=P sin(d + )

= 0.948 > sin(15.000=+ 0.000<)

= 0.916 kN

P (kN)

w1 (kN/m)

w )
(S} O = tan-1kh(<)

kh

@l )

o <)

S <)
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b)
V(KN) H(KN) X@m | Y(m) | Mr(kN m) Mo(kN  m)
100.625 14.088 | 1.976 | 0.952 198.835 13.412
0.245 0.916 3.000 | 0.167 0.735 0.153
100.870 15.004 199.570 13.565
c)
@
SMr - Mo 199.570 - 13.565
= = 1.844 m
>V 100.870
1)
B2 3.000
ez - d = - 1.844 = -0.344 m
le] = 0.344 m B2/3 = 3.000 / 3 = 1.000 m 0K
2)
>V
o M =Y
>H
~0.600 > 100.870
B 15.004
= 4.033 1.200 OK
3)
>V 6e
s (S
B2 B2
100.870 L, B -0.3u
= B
3.000 ( 3.000 )
= 10.491 KN/m2 600.0 KN/m2  OK
>V 6e
2= (1 -—
B2 B2
_100.870 6 034
©3.000 ( 3.000 )

56.757 KN/m2

600.0 kN/m2 OK
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©)

w =33.000= 41.000< w =37.000<
w P PH Pv

33.000< 19.745 18.554 6.753
34.000< 19.783 18.590 6.766
35.000<= 19.817 18.622 6.778
36.000< 19.844 18.647 6.787
37.000< 19.868 18.670 6.795
38.000< 13.508 12.693 4.620
39.000<= 13.839 13.004 4.733
40.000<= 14.270 13.409 4.881
41.000<= 14 .866 13.969 5.084

21.000

20.000 \

19.000 \
g 18.000 \
< 17.000 \

16.000 \

15.000

14.000 \\//

13.000

12.000

11_000 T T T T T T T T

% o o o o % o o
LSS
L S <M S AR I S 2
w( )
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PH

Pv

W1l sin(w-@)+W2 cos(w-) tan(O-5%)

cos(w-@-a-9)
25.741 sin(37.000=-30.000=) + 12.182 c0s(37.000=-30.000=) tan(73.301<=-20.000<)

cos( 37.000= - 30.000= - 0.000<= - 20.000<)
19.868 kN

P cos(d + o)
19.868 > cos(20.000=+ 0.000<)
18.670 kN

P sin(d + o)
19.868 > sin(20.000=+ 0.000<)
6.795 kN

(kN)
(kN/m)
)
)
)
<)
<)
<)
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b)
V(KN) H(KN) Xm) | Y@m | Mr(kN m) Mo(kN  m)
100.625 1.976 198.835
6.795 18.670 | 3.000 | 0.833 20.385 15.552
107.420 18.670 219.220 15.552
c)
@
SMr - Mo 219.220 - 15.552
= = = 1.896 m
>V 107.420
1)
B2 3.000
e=— -d-= - 1.896 = -0.396 m
2 2
le] = 0.396 m B2/3 = 3.000 / 3 = 1.000 m 0K
2)
>V
Fs = Ll
>H
~0.600 > 107.420
- 18.670
= 3.452 1.500 OK
3)
>V 6e
= (1)
B2 B2
107.420 L, 0> -0.3%
= +
3.000 ( 3.000 )
= 7.448 KN/m2 600.0 KN/m2  OK
>V 6e
2= (1 -—
B2 B2
_107.420 , B> -0.3%
©3.000 ( 3.000 )

64.166 kN/m2

600.0 kN/m2 OK
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@
B1
&
MERE) o
Hi I
3 . 12
E G ()
T
B2
EOPhEEE L TT
a) P G Z1
1
Bl + B2
m = T > Hl L1 wec
0.500 + 3.000
= ) >< 2.500 > 10.000 =<  23.0
= 1006.3 kN
L1
B1
B2
H1
2) M
m B12 + B22 B2 - Bl 2B1 + B2)2H12 + (B12 + B22 + Bl B22
R S Py T o - ¢ ) ( )}
3 2 2(BL + B2) 3(Bl + B2)2
1006.3 0.5002 + 3.0002 3.000 - 0.500
= { + 2.5002 - > 2.5002
3 2 2 = (0.500 + 3.000)

(2 > 0.500 + 3.000 )2 > 2.5002 + ( 0.5002 + 3.0002 + 0.500 > 3.000 )2
3 = (0.500 + 3.000 )2 }

931.6 kN m
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3)

lo =

4)

5)

6)

Kv

Kv

B23 L1
12
3.0003 >=10.000
12
22.500 m4

=B2 L1
= 3.000 > 10.000
= 30.000 m2

ML 2B1 + B2
'3 BL+B2
2,500 2 < 0.500 +
3 0.500 +

= 0.952m

3.000
3.000

Kv
Bv

(os)

1 5.477
= —— > 1 > 140000.0 >
0.3 0.3

52837.3 kN/m3

Bv
Bv = /A= 30.000= 5.477 1
(@ ¢

Eo
N N

-3/4

-3/4

)

Eo

Eo = 2800N = 2800 =< 50 = 140000.0 kN/m2

Eo

0.3m
1/2

N E=02,800N
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7) Ks
A Kv
4
30.000 =< 52837.3
4
396279.8 kN/m

Ks

8) Kr)

Mu - Mw

By - 60

325.001 + 478.999
0.00012 + 0.00040
1546153.5 kN m

Kr

Mu
Mw
Oy
OO0 Mw
9) P G (21)
Kr 1546153.5
2= — = ————" = 3,902
Ks 396279.8
) I 931.6
2= — = ————"" = 0.92
m 1006.3
Z 71 S2 2 102 71 S2 2 102 )2 102
= + - + + - +
1 ’s ( €o i02) 452 ( €o i02) io
1
= 7( 0.9522 +  3.902 - 0.926)
2 < 0.952
1 2
+ —( 0.9522 +  3.902 - 0.926) +  0.926
4 =< (.9522

= 4.294 m



™ (1
=71 -S
= 4.294 - 0.952
= 3.342 m
™ (2
=11+ H1
= 3.342 + 2.500
= 5.842 m
Q) ™ Q)
=11+ h"
= 3.342 + 2.000
= 5.342 m
hl
a’)

A4(B2 12 - Bl l1)(122+ 11 12+ 112) - 3(B2 - BI)(12 + 11)(122 + 112)
612(BL + B2) H1

{4( 3.000= 5.842-0.500< 3.342)><( 5.8422+ 3.342< 5.842+ 3.3422)

-3( 3.000-0.500)><( 5.842+ 3.342)><( 5.8422+  3.3422)}

/{6>< 5.3422 >(0.500+ 3.000)><2.500}

= 0.661
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5)

A )
2Mo
— Vo
mo + ™m
2 x< 13.624
> 19.328
13.624 + 0.661 > 1006.3
0.776 m/sec
Mo
Vo
8]
Vo = 2g(1- ) H
tan©

J
J 0.05

2 > 9.80 ><(1 . 7) > 20.066
tan44.904=

19.328 m/sec
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©)

D

Kr1i

2) A

Sd

3)

4)

oL L
(Kr1)
= Ks(eo? +112)
396279.8 < ( 3.902 + 3.3422)
5972318.6 kN m
Sd)
o mfg 12 V2
Kr1
1006.3 / 9.80 x< 5.3422 > 0.7762

5972318.6

J 0.661 >

0.014 m

oL)
Sd
I
0.014
5.342
0.00262 rad = 0.150<

L)

Sd - h e:5d(1-k:')

2.000
0.014 ><( 1- 7)
5.342

0.00876 m
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d) En
1
1 2
EwL = — Kr OL
2
1 2
:AE;—>< 1546153.5 < 0.00262
= 5.307 kJ
2) EHL
1 2
EHL = — Ks &L
2
1 2
= 45— =< 396279.8 < 0.00876

15.205 kJ

EmML

EHL



&)

b W REMEIGERFD B AT b
. Wy @ EREHERE— AT
o MR R B A b

N o EEEEIC J AT A1 ]
-, Wi P IELAVERE-AT
1 St My WX AEERE
B ot W WGELEREOMEEER
© W & : [EAmEEA
3 g : FEEEE \
) Hu : ML ERF AT L
Ei " o : BRI AR L mAER
E H1 T F—
i
1%
e %
0 a & ¢ f
jEEE o (@i A &
o7 2 — ZF g
a) Mw
Me = m dx
= 1006.3 <  -0.476
= -478.999 kN m
dx
HL(2B1 + B2)NL
dx = -
6(B1 + B2)
_2.500 > (2 > 0.500 + 3.000) > 1.000
B 6(0.500 + 3.000)
= -0.476 m
N1

N1 = 1.000
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b)

My

Mu

Qu

+

(My) (Mu)

Hr = 402 My
Mu

Hr><h®" = 402 > 2.000 = 804.000 kN m
h* (m) h" =2.000 m

My + Mw = 804.000 + -478.999 = 325.001 kN m

1
Ae{orcNeSe + KQgNgSq + ‘5*\/1£386Nr3r}

23.540 ><{ 1.0 > 1.000 < 0.000 < 13.03 > 1.000+ 1.000 >
1/2> 20.000 >< 1.0 > 2.354 < 2.42 > 0.752}

1008.431  (kN)
m= 1006.3 kN

0.000 <

7.29 < 1.000
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Qu (kN)

@ ) ®=30 °

c (kN/2m) ¢ = 0.000 kN/m2

Y1 Y2 (kN/m3)

B2 (m) B2= 3.000 m

es (m) es = |[Mu/m] =] 325.001 / 1006.3 | = 0.323 m
Be (m)

Be = B2 - 2es = 3.000 - 2> 0.323 = 2.354 m

a B a=10 B =1.0
q (kN/m2)
q = y2>=Df = 0.000 < 0.500 = 0.000 KkN/m2
K
K = 1.000
Ae (m2) Ae = Bex<L1l = 2.354 > 10.000 = 23.540 m2
tan©

Hr
tan® = — = 0.399
m

Nc Ng Nr
Nc = 13.03 Nq = 7.29 Nr = 2.42

AV M A=V=p=-1/3

Sc Sq Sr
Sc = (C*)A = (C/Co)A = ( 0.000/10)-1/3 = 1.000 ( 1 C* 10)
Sqg = @)V = (@/q0)V = ( 0.000 /10)-1/3 = 1.000 ( 1 g 10)
Sr = (B")M = (Be/Bo)M = ( 2.354/1.0)-1/3 = 0.752 ( 1 BY)
Co = 10 kN/m2
go = 10 kN/m2

Bo=1.0m



c) Kro M<M1
Kro = lo Kv
= 22.500 > 52837.3
= 1188839.3 kN m

M1
ML = m B2/6
= 1006.3 >< 3.000 / 6
= 503.1 kN m
d) Ke* M M1
Kr* = Kro/2

1188839.3 / 2
594419.7 kN m

e) Mu (60)
Mw
O =
Kro
| -478.999
© 1188839.3

= -0.00040 rad = -0.023<



) ML o1

o1:= 1
Kro
_ 503.1
© 1188839.3
= 0.00042rad = 0.024°
9 Oy
ey:(ZM” _1) M1
M1 Kro
2 325.001 503.1
) ( 503.1 1) 1188839.3
= 0.00012rad = 0.007°
h) Oa
BOa=pu Oy
= 5.000 < 0.00012
= 0.00060 rad = 0.034° = 3.000°
9
i) Em

1
Em = 7My(ey - ©0) + ly(Ba - By)

1
= 7 > 804.000 ><( 0.00012 + 0.00040 ) + 804.000>(0.00060 - 0.00012)

0.594 kJ

®

EmL= 5.307 kJ
En= 0.594 kJ ouT









@18mm 3><7 G/0
157kN
H1 11.397 m
H2 2.696 m
H3 9.108 m
Ha 9.481 m
\Y Y, 2.000 kN 26.000 kN/m3 26.000 kN/m3
a 1.000 m 1.000 m
c
M1 0.50 0.50
2 0.05 0.05
Oaf 36.403 < 45.683 < 45.683 <
Ode 11.766 <
o M EE Hy
- |He
R
4
EOmHE
Hz
-~
SLa 3xSlLa
SLa 2.0m 0K 3.0m
=0.096 m 3.0m
SLb 3><SLb
SLb  2.0m OK 3.0m
=0.107 m 3.0m
SLc 3xSlc
SLc  2.5m OK 5.0m
=0.324 m 5.0m




(1) RC

@

RC

@18mm 3>=<7 G/0

157kN
p1 = 0.50 (RC
M2 = 0.05
e = 0.550
P = 0.590
e P
0.55 0.59
0.54 0.58
A b ER Hy
Hz
3

el

EEOHE

Hz

No. W (kN) Hi (m) Oaf (°)
1 13.624 0.177 45.683

2 3.250 3.717 35.943

3 2.000 11.397 36.403

4

5

6

7

8

9

[y
o




€Y

V1
Oaf
SF )
H1
V1 :JZQ(l - o H )H1
tan(Oar)
RC
No.
W(KN) BOaf(<) Vi(m/s) W(KN) BOaf(<) v(m/s)
1 13.624 45.683 1.817 25 45 5
2 3.250 35.943 8.236 10 30 10
3 2.000 36.403 14.430 10 30 15
4
5
6
7
8
9
10
Oaf v
W(kN) ) (n/s)
10 15 5
25 30 10
50 45 15
75 60 20
100 75 25
150 28
200

RC




RC

No. W (kN) SLa (m)
1 13.624 0.032
2 3.250 0.058
3 2.000 0.096
4
5
6
7
8
9
10
~
=
S 24
22
20 P —
18
16
14
12 -
10 /
8
6 /-/
4
2 -/./
O Il
0 5 15 20 28
(m/s)
—a— 10 (kN)
:SLa=0.096m 2.0m
RC
3>=<SLa
SLa
SLla 2.0m OK 3.0m
=0.096 m
3.0m




O Ha () Hs () Oaf (<) Bde (°)
1 13.624 2.696 9.108 45.683 11.766
2 3.250 6.236 9.108 35.943 11.766
3 2.000 13.916 9.108 36.403 11.766
4
5
6
7
8
9
10
@

V2

Oaf

M2 (
H2
V2 =J29(1 S )H2

tan(Oaf)
2

(S) RC
Oaf
Ode

On = 90 - 2 < (Oaf - Ode)




(€))
RC RC
(142=0.05)

RC 1=0.50
tH4

V2
Oaf
SEI (RC )
H2
Hz2"
H3

1=0.5

~ A

V2

M1 .
ng(l i tan(©Oaf) iz

V22

M1
tan(Oaf)

29(1 -

H = H2" +H3

*)
V4
Oaf
Ode

1 (RC + )

_ I

W4 = e V3 sin(Oaf - Ode)
VHa = o V3 cos(Oaf - Ode)

Va =/ (Wa)2 + (VHe)2

(111=0.50)



RC

No.
W(kN) on(<) Va(m/s) W(kN) On(<) V(m/s)
1 13.624 22.166 6.877 25 15 10
2 3.250 41.646 7.590 10 30 10
3 2.000 40.726 10.297 10 30 15
4
5
6
7
8
9
10
On v
W(kN) ) (n/s)

10 15 5

25 30 10

50 45 15

75 60 20

100 75 25

150 28

200

RC
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RC
No. W (kN) a (m
1 13.624 0.106
2 3.250 0.058
3 2.000 0.096
4
5
6
7
8
9
10
~
=
< 50 /
40 ////‘//
30 /////'//
20
10
0
0 5 15 20 25 28
(m/s)
—— 25 (kN)
a 0.106m
la SLb
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SLb

SLb = /6a2 + (|2a)2 _ I2a

Sa = /a2 + 50a

la (50m )
a (m
Sa = /0.1062 + 50 ><0.106
= 2.305
50.00 | 2 50.00
Stb = | 2.3052 + (—) St
2 2
= 0.107 (m)
:SLb=0.107m 2.0m
RC 3.0m
C )
3><SLb
SLb
SLb  2.0m OK 3.0m
=0.107 m
3.0m
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RC
No.
W(KN) Oar(<) Ha(m) W(KN) Oar(<) H(m/s)
1 13.624 45.683 9.481 25 60 10
2 3.250 35.943 9.481 25 45 10
3 2.000 36.403 9.481 25 45 10
4
5
6
7
8
9
10
W Oaf
(kN) )
25 45
50 60
100 75

RC
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RC
No W (kN) SLc (m)
1 13.624 0.324
2 3.250 0.221
3 2.000 0.221
4
5
6
7
8
9
10
~
=
S 9
80
70 /[
60 e
50 -,m/'
40
30 /
20
10 ,r’
0
0 5 10 15 20 25 30 35 40 45 50 55 60
(m
—a— 25 (kN)
:SLc=0.324m 2.5m
RC 5.0m
3>=SLc
SLc
SLc  2.5m 0K 5.0m
=0.324m
5.0m
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TST

50




15
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TST 50
hi = 2.000 m BL = 0.500 m
©=  48.645 ° B2 = 1.000 m
H = 9.897 m HL = 1.000
b= 0.05 d = 1.000 m
Y = 26.000 kN/m3 da = 0.500 m
a= 1.000 m
(1: ) |N1=0.500 N2 =
©1 ©2 ©3 ©1  |30.0740.0540.0F 0.0
h = 3.400 m Oc= 18 N/mm2
a = 4.000 m Ve = 23.0 kN/m3
L= 10.000 m Oca= 4.50 N/mm2
SD295A | D25 | A= 506.70 mm2 Ta = 0.33 N/mm2
Osa = 160 N/mm2
d* = 50 mm (kV/n3)|  19.000
24 N/mm2 (=) | 30.000
Coa = 1.6 N/mm2 b= 0.600
kh = 0.150
1.20 N/mm2 C = 0.000
BL
S
h
SR Y I
H1 , L da/g
B2
1.500 | 3.1 | oK
134.837 360.000 | OK | 70.0 | 81.0 | OK
1.499 | 6.750 | OK | 0.327 | 0.495 | 0K |185.263 |290.000 | OK
0.083 | 0.166 | OK | 0.007 | 0.333 | OK |0.001 |0.333 | OK
4.116 | 1.500 | OK | 2.559 | 1.500 | OK | 1.731 | 1.200 | OK
9.145 OK | 43.246 OK |18.142 0K
300.0 600.0 600.0
27.288 OK | 47.037 0K |18.361 0K
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TST 50
1.
TST
400 (kJ)
90%
360 (kJ)
2.
@
@ 216.3mm STK400
L=5.0m @ 22mm SR235
D19mm SD295
o =240kg/cm2
FRP @ 109mm RP100
L=3.5m PC @ 21mm SBPR1080/1230
@ 127mm STKM13A

SS400 t=10mm

@ 16mm IWRC 6>=<Fi(29) G/0

@ 4.6mm
40><40mm

@ 16mm FCMB310

@ 76.3mm STKM13A

@ 60.5mm t=3.8mm STK400

@ 56-¢ 50 S45C

SS400 t=4.5mm
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®
O - 48.645 <
H= 9.897 m
M= 0.05
€]
8]
A 0.05 0 0.1
B , 0.15 0.11 0.2
C , 0.25 0.21 0.3
D , 0.35 0.31
V=ad 711/6 = 1.0003><T711/6
= 0.524 m3
Yy = 26.000 kN/m3
m=V vy = 0.524 > 26.000 = 13.624 kN

a= 1.000 m
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h1

h2
h3

ha

h2
h3
hs

ha

(m
(m
()

3.1m

( 5%)
= (3400mm)cos 10.0= - 200 mm
= 3.148 m

3.1m ( )

2.000 m
1.500 m
0.000 m

1.500 + 0.000
1.500 m

(m
(0.000m)
(m

= 1.500 m h=31m 0K
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TST

Ei = (1+B)(L- m H

tan©

(1+B) ((@-p/tan®) 1.0

(1+B) (@-p/tan®) = (1 +0.1) < (1 - 0.05 / tan 48.645<)

= 1.052

Ei = 1.000 > 13.624 >

Ei
50 ET

Ei ET 0K

1.0 oUT (U+B) (@-p/tan®) = 1.0

9.897 = 134.837kJ

0.1 )

134.837 (kJ)
360.000 (kJ)
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TST

50

No. () (kN) (kJ)
1 9.897 13.624 134.837
2 13.436 3.250 43.667
3 21.116 2.000 42.232
4 — — _
5 — — —
6 — — —
7 — — _
8 — — _
9 — — _

[y
o
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€Y

@

4
140.0kN
1
140.0kN / 4 = 35.0kN/

16mm(46.0kN/ )

s

= 2><As><Fu/j§
2 > 303 > 400 / /3
140.0 kN

M22 SS400
As 303mm2
Fu 400N/mm2 <
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€Y

TST 50

160 > 506.70 = 81072 N 81.0 kN

SD295A 160 N/mm2
D25 5.0670 cm2 = 506.70 mm2
70.0kN
(70.0kN) ( 81.0kN) 0K

@ 25 mm
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®
T = 1.20 (N/mm2)
70.0(kN)
a)
La = (T><Fs) / (1t><d"><T)
T 70.0(kN)
da- @ 50 (mm)
Fs 2.0
.

La = (T><Fs) / (1t>=<d><T)
=(70.0 > 1000 >< 2.0) / (7t < 50 < 1.20)
= 743 (mm)
1000 (mm) (1.0m)

(

)
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b)

Lb =T / (7t><D><Tca)

T 70.0(kN)
D 25 (mm)
Tca 1.6 (N/mm2)
24 (N/mm2)
PC PC PC
1.5

Lb =T / (7t><D><Tca)
=70.0/ (7t < 25 < 1.6)
1.0 (m)

©)

La= 1.0 m
Ls = 0.5 m
( ) Lf = 0.2 m
LB = La +Ls +Lf

L= 1.7 m
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tp-7
61.0 kN g
42.0 kN
71.0 kN
FR-7
@
L-100>100><7
A = 13.62 cm?2
( ) Is = 53.1 cm4
( ) r= 1.97 cm
Es = 2.100 > 104 kN/cm2 <
L =272 cm
L
—=138.071 100
r
k = 2.0457
b = K TU2><Esx Is
L2
P = 3.043><102 kN
@22mm
75%
Ag = 3.801 cm2 M22
Fu = 33 kN/cm2
Qy = 0.75><AB><I;u
I8
qy = 54.31 kN
_ 2.15
( ) B1 = atan TBS)
_ 1.15
( ) B2 = atan(?%)

ght =gy><cos([31)
ght = 33.06 gh2 = 44.54

gh2 =gy><cos([32)

+
=i | P1
e T P2
- He:
< | Pa
< H P
= i P&
= : Py

>
B1 = 52.5<
B2 = 34.9<



27

@

P161

F>< (h+d/2)

F/ActN/Z

D>d2/6

O < Oca

a3 13 F fE

F
h
d (d = 100cm)
Ac D><d D (D = 21.63cm)
z
Oca
i 7 22 £ b 0 i A 22 43 F d
|
] = [ T P1
1' 1] - +K Ei
:!: g ;E’ = S "'n\. PS
t SR ft:zz PE
1 il £ I pr

400
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Pr1=61.0kN Pr2=42_0kN
PR3=71.0kN( )
2
6
T1 T2 70.0kN( )
d =100 (cm) ©1 = 30.0° ©:2 = 40.0° ©3 = 40.0°

Mo = PR13><340><2+ Pr2><(290+240)+ Pr3><40><2
+[0-(T1><cos(O2) ><cos(O1)+T2>cos (O3)>cos(O4))]><380
+0-(gh1><215+h2><115) ><2
= 6.936 =< 103

T = (T1>=cos(O2) ><cos(O1)+T2>cos(O3)><cos(O4))
= 1.001 > 102 kN

Q = (gn1+gn2)><2
= 1.552 > 102 kN

M1(d)= (Pr1><2+PRr2><2+ PRSXZ)X%—TX%—(QhH QhZ)X%XZ
= 4.635 > 108
1/2
M(d)= Mo+M1(d) = 11.571 > 103

F = (Pr1><2+PRr2>2+Pr3><2)-T-Q
= 92.700 kN
Mo
h=—
F

= 74.822 cm

Ac(d) = 21.63><d

= 2163 cm2

D>=<d2
2
= 108150 cm3

Z(d)

(ST

0.0<
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F M(d)
o (d)= + = 0.1499 kN/cm2 =  1.499 N/mm2
Ac(d)  Z(d)
Oc = 18 N/mm2
1.5
Oca = 4.50
o) = 1.499 N/mm2 Gca<1.5 =  4.50 < 1.5 = 6.750
(€©))
T
F
T = —
2ld - d
92.700 > 103 ES
T2 > 0.142 > 1.00 > 106
= 0.327 N/mm2
|
E1

(0.500 - 0.216) / 2 = 0.142 m

T = 0.327 N/mm2 Ta < 1.5 = 0.33 < 1.5 =

0.495 N/mm2

N/mm2

OK

OK
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*

Mo = 6.936 > 103
N

N = T1><sin(©2)+T2><sin(O3)- (ghi><tan(B1)+gh2><tan([32))>=<2
= -0.058 >=<103

4049

1
w
hy|
N
w
[e¢]
hy|

Mo
Os = Z— = 18.5263 kN/cm3
S

185.263 N/mm2 Osa = 290.000 N/mm2 OK
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[ ]
(216.3 t=5.8 P19<6)

>lsb = 6lp+tAp><(y12+ +y72)
Ip
T1tD4/64 = 0.64cm4 (D 19mm)
Ap 1 2.84 cm2
Yi
yo = 0
y1 = 4.6 cm
y2 = 6.5 cm

Ish = 6 > 0.64 + 2.84(4 =< 4.62 + 2 >< 6.52)
= 3.84 + 2.84 > 169.1 = 484.08 cm4

Isp = 1TD24/64 - TTD14/64

D2 = 216.3 mm
D1 = 204.7 mm
Isp = 1TT21.634 / 64 - 7120.474 / 64
= 10747 - 8618
= 2129 cm4

Is = IsbtIsp = 2613.08 cm4

Ds = 204.7 mm

Ic = 71TDC4/64
= 1T > 20.474 / 64
= 8618 cm4

n = Es/Ec = 6

I = Istlc/n = 4049 cm4
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€Y)

0

gl
g2
g3

Yysl

kh

Ock

Yc

0.600
300.0
600.0
600.0

19.000
30.000

0.150
0.000

18
23.0

Bl

kN/m2
kN/m2
kN/m2

kN/m3

kN/m2

N/mm2

kN/m3

Bl = 0.500 m
B2 = 1.000 m
HL = 1.000 m
N1 = 1: 0.500
N2 =1



33

®

AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 0.250 23.0 5.750 0.333
[2] | 0.500 23.0 11.500 0.750
[3] | 0.000 23.0 0.000 1.000
0.750 17.250 0.611
AM2) | ye(kN/m3) | V(KN) HCKN) X@m) | Y(m)
[1] | 0.250 23.0 5.750 0.862 | 0.333 | 0.333
[2] | 0.500 23.0 11.500 1.725 | 0.750 | 0.500
[3] | 0.000 23.0 0.000 0.000 | 1.000 | 0.333
0.750 17.250 2.588 | 0.611 | 0.444
V=3A vye
H= >V kh
X = X)/=A
Y= Y)/=A
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*

w =52.000= 60.000< w =56.000<
w P PH Pv

52.000< 2.782 2.614 0.952
53.000< 2.801 2.632 0.958
54.000< 2.814 2.644 0.962
55.000< 2.822 2.652 0.965
56.000< 2.825 2.655 0.966
57.000< 2.822 2.652 0.965
58.000< 2.814 2.644 0.962
59.000< 2.802 2.633 0.958
60.000< 2.785 2.617 0.953

2.830

T~

2.820
< 2.810 / \
o/
[a

2.800 / \

2.790 / \

2.780

2_770 T T T T T T T T

Qﬂ Qﬂ Qa Qﬂ Qa Qﬂ Qﬂ Qa Qﬂ
S S S
AR R R R MR AN MR M
w( )
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PH

Pv

Wl sin(w-®)

cos(w-@-a-0)
6.408 sin(56.000<- 30.000<)

w1

@l

cos(56.000= - 30.000= - 0.000<= -20.000<)
2.825 kN

P cos(d + o)
2.825 > co0s(20.000=+ 0.000<)
2.655 kN

P sin(d + o)
2.825 > sin(20.000=+ 0.000<)
0.966 kN

(kN)
(kN/m)
)
)
<)
<)
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b)
V(kN) H(KN) X(m) | Y(m) Mr(kN  m) Mo(kN  m)
17.250 0.611 10.540
0.966 2.655 1.000 | 0.333 0.966 0.884
18.216 2.655 11.506 0.884
c)
@
>Mr - 2Mo 11.506 - 0.884
= = = 0.583 m
sV 18.216
1)
B2 1.000
ez — -d-= - 0.583 = -0.083 m
2 2
le] = 0.083 m B2/6 = 1.000 / 6 = 0.166 m 0K
2)
>V
I
>H
~0.600 18.216
B 2.655
= 4.116 1.500 0K
3)
>V 6e
= (1)
B2 B2
18.216 6 < -0.083
- e (1 + —)
1.000 1.000
= 9.145 KN/m2 300.0 kN/m2  OK
>V 6e
@= (1 -
B2 B2
_ 18.216 . 6 < -0.083
©1.000 ( 1.000 )

27.288 KkN/m2

300.0 KN/m2 OK
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®

w =52.000= 60.000< w =56.000<
w P PH Pv

52.000< 2.782 2.614 0.952
53.000< 2.801 2.632 0.958
54.000< 2.814 2.644 0.962
55.000< 2.822 2.652 0.965
56.000< 2.825 2.655 0.966
57.000< 2.822 2.652 0.965
58.000< 2.814 2.644 0.962
59.000< 2.802 2.633 0.958
60.000< 2.785 2.617 0.953

2.830

T~

2.820
< 2.810 / \
o/
[a

2.800 / \

2.790 / \

2.780

2_770 T T T T T T T T

Qﬂ Qﬂ Qa Qﬂ Qa Qﬂ Qﬂ Qa Qﬂ
S S S
AR R R R MR AN MR M
w( )
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PH

Pv

Wl sin(w-®)

cos(w-@-a-0)
6.408 sin(56.000<- 30.000<)

w1

@l

cos(56.000= - 30.000= - 0.000<= -20.000<)
2.825 kN

P cos(d + o)
2.825 > co0s(20.000=+ 0.000<)
2.655 kN

P sin(d + o)
2.825 > sin(20.000=+ 0.000<)
0.966 kN

(kN)
(kN/m)
)
)
<)
<)
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b)

X

Ph

Pv

Rp
RR

62.4 (KN)
125.7 (kN)

A A—-ZRED

20 tf \

FITE e
1275 if

PsH =RpP cosOta-RR sinda

62.4 > co0s(10.0) - 125.7 > sin(10.0)
39.624 (kN)

Psv =Rp sincatRR cOSOla

= 62.4 > sin(10.0) + 125.7 > co0s(10.0)

= 134.626 (kN)

Aa )
0.750 (m) y = 1.000 (m)
PsH 2/L = 39.624 2 / 10.000 = 7.925 (kN)
Psv 2/L = 134.626 2 / 10.000 = 26.925 (kN)
L (m
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V(kN) HCKN) X(m) | Y(m) Mr(kN  m) Mo(kN )
17.250 0.611 10.540
0.966 2.655 1.000 | 0.333 0.966 0.884
26.925 7.925 0.750 | 1.000 20.194 7.925
45.141 10.580 31.700 8.809
c)
@
SMr - Mo 31.700 - 8.809
= = = 0.507 m
>V 45.141
1)
B2 1.000
ez — -d-= - 0.507 = -0.007 m
2 2
le] = 0.007 m B2/3 = 1.000 / 3 = 0.333m 0K
2)
>V
I
>H
0.600 > 45.141
B 10.580
= 2.559 1.500 0K
3)
>V 6e
ws (%)
B2 B2
45.141 6 < -0.007
- e (:1 + 44444444444{)
1.000 1.000
= 43.246 KN/m2 600.0 kN/m2  OK
>V 6e
2= (il -—
B2 B2

45.141
1.000
47.037 KN/m2

6 >

-0.007
(1 ©1.000 )

600.0 kN/m2 OK
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©)

w =45.000°  53.000°  =49.000°
w P PH Pv
45.000< 3.835 3.704 0.993
46.000< 3.852 3.721 0.997
47.000< 3.863 3.731 1.000
48.000< 3.869 3.737 1.001
49.000< 3.869 3.737 1.001
50.000° 3.865 3.733 1.000
51.000° 3.855 3.724 0.998
52.000° 3.841 3.710 0.994
53.000° 3.823 3.693 0.989
3.880
3.870 _— ~—_
2 3.860
% 3.850 // \\
3.840 / \
3.830 \
3.820
P PP E SRR R
S S &S &S
PRt R R RT D G
w( )
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Wl sec® sin(w-@p+O)

cos(w-@-a-9)

8.258 sec( 8.531<) sin(49.000=- 30.000=+ 8.531<)
cos(49.000= - 30.000= - 0.000< - 15.000<)

3.869 kN

PH =P cos(d + )

Pv

= 3.869 > cos(15.000=+ 0.000<)
=  3.737 kN

=P sin(d + )

=  3.869 > sin(15.000=+ 0.000<)

= 1.001 kN

P (kN)

w1 (kN/m)

w )
(S} O = tan-1kh(<)

kh

@l )

o <)

S <)
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b)
V(kN) H(KN) X(m) | Y(m) Mr(kN - m) Mo(kN  m)
17.250 2.588 0.611 | 0.444 10.540 1.149
1.001 3.737 1.000 | 0.333 1.001 1.244
18.251 6.325 11.541 2.393
c)
@
SMr - Mo 11.541 - 2.393
= = 0.501 m
sV 18.251
1)
B2 1.000
e= - d = - 0.501 = -0.001 m
le] = 0.001m B2/3 = 1.000 / 3 = 0.333m 0K
2)
>V
I
>H
~0.600 18.251
B 6.325
= 1.731 1.200 OK
3)
>V 6e
w2 ()
B2 B2
18.251 6 < -0.001
= (]_ + )
1.000 1.000
= 18.142 KN/m2 600.0 kN/m2  OK
>V 6e
2= (il -—
B2 B2
_ 18.251 . 6 < -0.001
©1.000 ( 1.000 )
= 18.361 kN/m2 600.0 kN/m2  OK
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ARC
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ARC
hl = 2.000 m
O = 45.000 =
H= 12.254 m
b= 0.05
m = 2.000 kN
h = 2.000 m
a= 10.000 m
D= 28.5 mm
Do = 50.0 mm
( ) L1 = 2000 mm (L2 = 1400 mm)
A= 435 mm2
Ta = 120 N/mm2
Ts = 1.6 N/mm2
T = 1.20 N/mm2

G ER A I E)|
AT OGS 12 1
=M04t-0-7° \

EERA SnpE),  EAXE \
IXT G p 12 dA2 TiE=2.3) 1

CHO4R |25 TR

gl il
& 12mnl 3L

HEEE

## ¢ dvm 50% 50

T 4 114.30t=4.5)

EifES
& 12omlh™ 3L

SEZINELS

EiHEs
| 12nwh® 3L

=30 [l
2.000 2.000 OK 39.080 | 120.000 OK
131.947 | 11.000 OK
24.508 | 100.000 OK
200.559 | 11.000 OK
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ARC

ARC

€Y)

0

hl

T

100kJ

2.000 m
10.000 m

2.000
45.000 <
12.254 m

0.05

=

I
A s , 0.05 0 0.1
B s 0.15 0.11 0.2
C , , 0.25 0.21 0.3
D , 0.35 0.31

2.000 kN
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3.
h3
——---:F---
h4 h
h?
h (m)
h1 (m)
2.000 m
h2 = 2.000 m
ha3 = 0.000 m
hs = 2.000 + 0.000
= 2.000 m
h2 (m)
h3 (0.000m)
ha (m)

ha = 2.000 m h=2.000m OK



Ei = (1+B)(L- m H

tan©
(1+B) ((@-p/tan®) 1.0

(1+B) (@-p/tan®) = (1 +0.1) < (1 - 0.05 / tan45.000<)
= 1.046 1.0 oUT (U+B) (@-p/tan®) = 1.0

Ei = 1.000 =< 2.000 < 12.254 = 24.508 kJ
Ei ET
B (0.1 )
Ei = 24.508 kJ
ARC ET = 100.000 kJ
Ei ET OK
ARC
(1) ARC
1/3

(2) ARC 3
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ARC

No. () (kN) (kJ)
1 1.035 13.624 14.101
2 4.574 3.250 14.866
3 12.254 2.000 24.508
4 — — _
5 — — —
6 — — —
7 — — _
8 — — _
9 — — _

[y
o
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ARC

@

20kN

it

2.0m {3.0m)

3.0m (4.5m) |
gl
T =20 kN
S=T cos© =17 kN
V=T sin® =11 kN
O =33.7
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@

D= 28.5 mm
Do = 50.0 mm
L1 = 2000 mm
L2 = 1400 mm
100 mm
500 mm
A= 435 mm2
Ock = 24 KN/mm2
Ts = 1.6 N/mm2
Ta = 120 N/mm2
T = 1.20 N/mm2
N/mm2
1.20
0.80
0.48
0.48
10 0.08
20 0.14
30 0.20
40 0.28
50 0.36
10 0.08
20 0.14
30 0.18
40 0.23
50 0.24
0.8C(C )

) (H
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®

*

Pal

Pal

®)
Pa2
Pa2

17 < 108
435
= 39.080 120.000 0K

Te (N/mm2)
S (N/mm2)
A (mm2)

T
=70 DO L2 —
Fs

1.20
2.0

= 7T < 50.0 < 1400 =<

= 131947 (N)
= 131.947 (kN)  11.000 (kN)  OK

Pal (kN)
Do (mm)
L2 (mm)
T (N/mm2)
Fs (2.0)
% (kN)
v

=71t D L2 Ts

= 7T < 28.5 > 1400 >< 1.6

= 200559 (N)

= 200.559 (kN) 11.000 (kN)  OK

Pa2 (kN)
D (mm)
L2 (mm)
Ts (N/mm2)

v (kN)
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©

(N/mm2) | 39.080 | 120.000 OK
(kN) 131.947 | 11.000 OK
(kN) 200.559 | 11.000 OK

ARC
(N 10 )
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(JIS H 8641)
1 @114.3 (t=4.5mm) STK400 HDZ 55
2 139.8 (t=4.5mm) $5400 HDZ 55
3 @42.7 (t=2.3mm) STK400 HDZ 40
4 $5400 HDZ 55
5 R28.5¢p $45C HDZ 55
( ) $5400 HDZ 55
6 2502509 30 $5400 HDZ 55
7 R28.5¢p S45C HDZ 55
8 R28.5¢p S45C HDZ 55
9 $5400 HDZ 35
( ) $5400 HDZ 55
10
-1 ) @12mm $25C HDZ 55
-2 U ) $5400 HDZ 35
11 @28.5 ( @13) $45C HDZ 55
12 R28.5¢p FCAD900-8 HDZ 35
13 R28.5¢p SNCM630
14 @12 3%<7xG/0 SWRH 57A
-62A
15 50><50 |  SWMGS-3 7-GS3
16 @4.0 SWMGS-3 Z-6S3
1 $5400 HDZ 35
$5490
2 FR ( $5400 HDZ 35
@i2mm )
EHMEE Z 044-0-3" )

EHAI07” \ ,

(SR A0 SmiE) RN '.I .'I
2%7 GA0 g2 FY RS | i

(wEIzE LT

EiHk g

® 1Znm 5L

=8 ¢ dom 5050

T oo 114.30t=4.5)

EHES
& 12wl 3L

&3 1N " BERiloste

(oL




